
 

 

 

 

 

Lucy and Jack want to plant a row of 23 flowers in their garden.  

Each pack of seeds contains enough for 3 flowers.  

How many packets of seeds do they need to plant 23 flowers?  

Will there be a remainder?  



 

 

 

 

 

Lucy and Jack want to plant a row of 23 flowers in their garden.  

Each pack of seeds contains enough for 3 flowers.  

How many full packets of seeds will they need? 

Will there be a remainder?  

 

 

 

3 x 7 = 21 

Answer : 7 R2 

Lucy and Jack will need 7 full packets of seeds (3 x 7= 21) and will use 2 seeds from another packet (remainder 2).  


